
Page 1 of 1

11/14/2013http://www.aquatron.co.il/prdPics/big_RECL-UMJ0-UMJ00_parts.jpg?t=1372592358



 

Robot No Robot Name Item no. Part no. Description Qty 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 1 PL00016ML 5 PIN PLUG 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 1A A8327 ROPE ASSY. 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 2 WA00060-SP CABLE ASSEMBLY 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 4 1623 SEALING  GROMMET 3 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 5 AS01622BL HANDLE ASSY. 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 6 S7935 SWIVEL 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 7 SW00101 BOLT M6X40 DIN 912 A2 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 8 MP00216A AXLE FOR HANDLE UMX JR. 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 9 1108 SCREW FOR LOWER BRACKET 4 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 10 MP00217A AXLE FOR HANDLE UMX JR. 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 10A WS00001 PLAIN WASHER M6 DIN 9021 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 11 N00021 HEX. LOCK NUT M6 SS 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 12 11006 SNAP HOOK SS 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 13 11004 WASHER 1.2MM HANDLE PIN 5 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 14 AS1008101-SP COVER FOR UMX JR SP 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 15 AS1009200 BODY ASSY. INNER 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 16 2251 SCREW #8-18 X 34" PHIL 8 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 17 2240B1 BODY OF OUTLET TOP-3 PAR 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 18 2701 SCREW #8X1116 PHIL PN 8 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 19 2305N RUBBER VALVE 4 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 21 9204NT LOCK TAB 4 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 22 2303 SCREW M4X10 SS 8 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 23 7133 HEX. NUT LOCK M4 SS 10 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 24A AS2000500 PULLEY ASSY 67.5 MM 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 25 PP0043300 TENSION WHEEL 4 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 26 RB00098 DRIVE BELT BLUE 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 27 MP00223 BRACKET FOR COVER UMX 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 28 2700 SCREW #8X1116 PHIL. 4 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 29 5200 SIDE PLATE UMX BLUE 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 30 2615 ERTALITE BUSHING FOR 7 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 33 AS08676-SP D.MOTOR MASTER UMX JR 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 33A AS08677-SP D.MOTOR SLAVE COMMERCIAL 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 34 AS06106-SP PUMP MOTOR 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 36A PP0004500 CASE FOR PIN 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 37 A38209BL WHEEL TUBE ASSY. 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 39 2607 DELRIN WASHER 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 40 3813 AXLE 0.499" X 526MM 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 41 BS6500200 S/A BOTTOM LID ASSY 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 42 3008A PVA BRUSH 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 43 AS09228 FILTER SCREEN ASSY. 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 44 8101 FILTER BAG 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 46 P00038 PROPELLER 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 47 SW00069 SCREW M3X10 PHIL DIN-965 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 55 AS110162512 SHRINK TUBE 1625 120mm 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 56 EP00012 INFRA RED SENSOR 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 57 2009 IR HOLDER WITH SCREWS 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 58 AS110012706 SHRINK EP00127 CUT TO 60mm 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 60 2016 HEXAGONAL SCREW 4 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 61 4011 COVER FOR MAIN SIDE 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 62 4010 MAIN SIDE PLATE 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 63 MP00019 TENSION WHELL AXLE 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 64 2018 DELARIN SPACER 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 65 2711A SCREW M4X60FHILL FLAD HD 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 66 RC0100400 RC COMM IDP INTEG RAD 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 67 AS07127-SP POWER SUPPLY 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 68 SA00109 PLASTIC HANDLE 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 69 AC0110100 POWER CORD 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 70 PL00016FL SOCKET 5 PIN FEMALE 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 71 AS1117038 CAP WITH CHAIN ASSY 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR 75 ASXW1043300 S/A ANTENA FOR COMM 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR NOT 4613 GROOVE PIN 18 X 58 SS 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR NOT 2613 MOLYBDENUM BUSHING 12 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR NOT 2681 CAP PLASTIC FOR HOLE 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR NOT 5474 BUTT CONNECTOR BLUE 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR NOT 8351 CAP 1 18 ID 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR NOT LB00226 LABEL FOR ULTRAMAX 1 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR NOT LB00228 LABEL FOR ULTRAMAX 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR NOT LB00250 LABEL FOR JUNIOR 2 
RECL-UMJ0-UMJ00 ULTRAMAX JUNIOR NOT PK0004101 SHIP BOX COMMERCIAL UNIT 1 

 


	Ultramax Jnr Exploded View
	ULTRAMAX JUNIOR

